
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of  

Martin Magnum 1500 

  

91120000 Magnum 1500, EU 

04220001 10K Ohm Potmeter lin 

05247206 Mains soc. chassis, snapin,IEC 

05328408 Crimp non insulated 

05501004 Tact Switch 

05551001 Knob 4mm rean black. P859-02 

05551003 Lid for 4mm knob.black.P864-25 

05761003 Piston Pump     240V / 50Hz 

05769002 Rubber Washer for piston Pump 

08050407 M3x16 ph pz black 

08050700 M3x6 ph torx tapt spike black 

08050802 M3x6 cs torx black 

08054401 M3 washer lock 3,2/6 black 

08070402 M4x10 ph pz black 

08070701 M4x10 ph torx tapt spike black 

08070702 M4x6 ph torx tapt spike black 

08070805 M4x8 cs torx tapt spike black 

08072701 M4 nut lock PA shiny 

08074306 M5 ø5,5x15x1 Washer black 

08074401 M4 washer lock 4,3/8 black 

08112701 M6 nut lock PA shiny 

08131901 M8x13mm safety eye bolt black 

08132311 M8 Handle, Mania Series 

08190108 Screw no6x1/4 self tapper p 

08190202 3.5x6.3 C. rec. Ph. Selftap bl 

08250107 Hose clamp 9.2-10.8 plastic 

08261204 Spacer  Snap-PCB / selftap   , 

08261212 Mounting block,PCB,nylon 

11840101 RJ45 remotecable, Mag 1500 

13104000 Strap,black,high temp,2.5x98 

13104001 Strap, black, 2.5x100mm 

14026002 Plastic tube  d=4 D=6 

15803013 Heatshrink 12.7mm black 

19440130 TPE rubber foot 

19440140 Rubber foot FF-7 

26410070 Elbow male 4mm-1/8 bsp 

26460430 Hose fitting, 4mm straight 

26480020 Fluid filter pe moulded 

32023001 Closed cell expanded rubber 3. 

33150040 Label, Use Jem/Martin fluid 



33190093 Label PE for thermoprint 60x35 

34240006 Plastic bag, 600x850 

34300529 Container 25  ltr 

34320002 Plastic cap , for JEM  1L, 2.5 

37021002 Loctite 243 10ml 

62020008 PCBA fogger 1000 series,remote 

62203644 Wireset, Magnum Mania 1500 

97120022 Pro Smoke Super (ZR) 25L 

 

 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 


